[N of associated tracks (recoToSim) vs dR |

N of reconstructed tracks vs dR

1 -1
track AR(track, jetg)

1072

107

1 -1
track AR(track, jet?

1072

o
7
- - O~
g x S
3 S| 2
N2
£ £ ]
= E g
X X
5 _ S _ & -
by T8 = g
o+ 9 o= 3 3
- e - x X <
2 8 [3} g
2 g 5] S
3 T D= £
g H S ¢
3 2 - £
g E g
~ 8 ™ @ £
5 z o 2 g
= 3 = $ 2
3 g 2
° g £
8 2 A
g ] 2
3 H g
g 1 3
® 8 ® ] o 5
S g =) 2 9 p
=1 s p °S 4 =1 g
S o - 5
H = 3 H
syoel) ani oney L] sxoen syeoydnp s L -
3
g
N 7
— @ — O~
o il o g
< 3 < .0,
E X
£ 20 £ 5]
£ S E g
X o x =
S = [} — x
78 NN P = <
Sh Sow o= 3
— D= - = X
o2k 3 g
28 g 1]
¢ rf
R s 3
5558 g
z P2t Ll o )
L === o S
9 il =1 &
5
3
3
2
@
2
™ ™ o ™
7 7 8 7
5 R E p
5 =1
=4
syoel) oney SHoel) ey =] syoen oney syl ey



	Contents
	Page 1


